
 Model Paper English Grade 8 

  
General Instructions:    

1) Write Roll Number in digits.(Figures) on Computerized Answer Sheet (The Sheet on which 

students mark the correct answer of objective questions). In the absence of your Roll No your 

scores would not be identified and allocated to you. 

2) Read each question carefully before answering. Attempt all questions. There is no choice in 

questions. 

3) Students are not allowed to take the Question Paper/Answer Sheet out of the Examination 

Centre. 

4) Mark the correct option of MCQ with sign  with a Black Ball Point, on the computerized 

answer sheet. If a student marks two or more boxes, or one sign  touches two boxes or the sign 

 is within two boxes without touching anyone, the computer will score ZERO for such 

questions. 

5) Students are not allowed to mark in the boxes made against the open ended questions serial 

numbers. The teachers will score your questions and then mark your score in the related box. If 

any two boxes are marked then computer will give you ZERO mark. The example of an objective 

question is given below. 

 

Example:   

1. Complete the following sentence using the correct answer given below. 

He is ________ to school. 

(a)  go  (b)  goes (c)  going (d)  gone 

Correct method to answer: 

    (a) (b)  (c)  (d) 
       

  

Part-A (Multiple Choice Questions)  Time Allowed: 1 hour 20 minutes  

 

Instruction:- Forty (40) Multiple Choice Questions (MCQs) are given in this part. Attempt all 

questions. All questions carry equal marks. Mark correct option on computerized answer sheet.  

Q. No.1.  He got admission in _______ University. 

(a) an   (b) the   (c) a   (d) but 

Q. No.2. He began to learn his lesson by ________. 

(a) wear and tear   (b) ways and means 

(c) heart and soul   (d) no means 

Q. No.3. Black sweater looks _________ beautiful than white ones. 

(a) a lot of   (b) much  (c) the most  (d) more 

Q. No.4. He got first division _________ he had worked hard. 

(a) but   (b) also   (c) because   (d) and 

Q. No.5. The sentence in “Past Indefinite” is 

(a) She loves her lamb very much  

(b) She loved her lamb very much 

(c) She was loving her lamb very much 

(d) She had loved her lamb very much 

Q. No.6. He showed many tricks. He amused the children with his tricks. “He” means 

(a) doctor  (b) teacher  (c) postman  (d) magician 

Q. No.7. Their grandfather died. They ________ him in the graveyard. 

(a) bury  (b) buried  (c) buries  (d) burying 

Q.1 

Re
su
lt
.P
K

http://www.result.pk


Q. No.8. I ________ some fishing yesterday. 

(a) do   (b) did   (c) done  (d) doing 

Q. No.9. _______string goes slack, you wind it back. 

(a) slack  (b) wind  (c) what  (d) when 

Q. No.10. The teacher has been teaching _______ morning. 

(a) from   (b) for  (c) since   (d) till 

Q. No.11. Adjective from the verb “dream” is 

(a) dreamt  (b) dreaming  (c) dreamy  (d) dreams 

Q. No.12. The sentence with correct use of either/or is 

(a) We have to buy either mangoes or bananas. 

(b) We have to either buy mangoes or bananas. 

(c) We either have to buy mangoes or bananas. 

(d) Either we have to buy mangoes or bananas. 

Q. No.13.  The word with correct spellings is 

(a) Teliphone  (b) Telephon  (c) Telefon  (d) Telephone  

Q. No.14. Never look down _______ the poor. 

(a) in   (b) upon  (c) on   (d) at 

Q. No.15. The correct interrogative sentence is 

(a) Why did you bring your bag?   

(b) Why did you brought your bag? 

(c) Why does you bring your bag?  

(d)  Why do you brings your bag? 

Q. No.16. The sentence with the correct use of conjunction is 

(a) He was ill but he went to the doctor. 

(b) He was ill because he went to the doctor. 

(c) He was ill therefore he went to the doctor. 

(d) He was ill yet he went to the doctor. 

Q. No.17. The sentence with correct punctuation is 

(a) We buy flour rice tea and sugar with money. 

(b) We buy flour rice, tea and sugar with money. 

(c) We buy flour, rice, tea and sugar with money 

(d) We buy flour, rice, tea and sugar with money. 

Q. No.18. The sentence in correct past perfect is 

(a) When I reached the station, the train left. 

(b) When I reached the station, the train was leaving. 

(c) When I had reached the station, the train had left. 

(d) When I reached the station, the train had left. 

 

Q. No.19. The correct passive of the sentence “She opened many schools for children.” is 

(a) Many schools have been opened for children by her. 

(b) Many schools are opened for children by her. 

(c) Many schools opened for children by her.  

(d) Many schools were opened for children by her. 

Q. No.20. The correct active voice of the sentence “Nurses are employed by the state” is. 

(a) State has employed the nurses.  

(b) State is employing the nurses. 

(c) State employees the nurses.  

(d) State will employee the nurses. 
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 Read the following poem carefully and answer the question No. 21 to 25.  
 

1. Green Parrot sing.  4. Sing of the days  7. Blossoms in trees   

2. Sing of the days  5. In mango groves 8. Sing of the trees 

3. Beyond the cage   6. Sing of the first  9. In the swaying rain  

Q. No.21. The above poem is about: 

 (a) days   (b) cage  (c) trees  (d) Parrot 

Q. No.22. Parrot is singing song from the: 

 (a) trees   (b) cage  (c) groves  (d) rain 

Q. No.23. The parrot sings of the trees in swaying: 

 (a) trees   (b) groves  (c) rain  (d) cage 

Q. No.24. Which one of the following is NOT a supporting sentence? 

 (a) Parrot is sitting in the trees.  

 (b) Parrot is singing about mango trees. 

 (c) Parrot is singing about the rain.  

 (d) Parrot is singing about the blossoming trees. 

Q. No.25. The word “blossom” means: 

 (a) blaming   (b) opening  (c) blowing  (d) swaying 

 

 Read the following paragraph carefully and answer the question No. 26 to 30.  

 

A game resembling hockey was played in Persia about 2000 B.C. The Greeks played this 

kind of a game in the 5th and 6th centuries B.C. Hockey was also played in France. Many 

countries of the world started playing modern hockey in the 19th century. It became very 

popular in Great Britain. It also spread to other European countries and to Australia and 

New Zealand as well. British soldiers brought this game to the sub continent. 

Q. No.26. The above paragraph is about: 

 (a) Games  (b) Hockey  (c) Persia  (d) Europe 

Q. No.27. The country which brought Hockey to the sub continent is: 

 (a) Persia  (b) Australia  (c) France  (d) Great Britain 

Q. No.28. In which century modern hockey started? 

 (a) 2nd   (b) 5th   (c) 6th   (d) 19th  

Q. No.29. A game resembling hockey was played in: 

 (a) France  (b) Australia  (c) Persia  (d) Great Britain 

Q. No.30. The meaning of “brought” is 

 (a) took  (b) fetched  (c) bright  (d) got 

 

 Read the following paragraph carefully and answer the question No. 31 to 35.  

 

The stars are a burning matter of gasses and have their own light. The sun is also a star. 

All the planets are very hot and they move around the sun. These are Mercury, Venus, 

Earth, Mars, Jupiter, Saturn, Uranus, Neptune and Pluto. The stars are fixed. The nearest 

neighbour of the earth is the moon. The moon completes its movement around the earth in 

29/30 days. 
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Q. No.31. The above paragraph is about: 

 (a) hot planets    (b) weather and rains 

 (c) heavenly bodies   (d) moon and earth 

Q. No.32. Which of the following is stationary?  

 (a) Earth  (b) Moon  (c) Mercury  (d) Sun 

Q. No.33. Which of the following has its own light? 

 (a) Pluto  (b) Moon  (c) Mars  (d) Sun 

Q. No.34. The nearest neighbour of the earth is: 

 (a) Moon  (b) Mars  (c) Pluto  (d) Venus 

Q. No.35. Which of the following is NOT planet? 

 (a) Earth  (b) Mercury  (c) Pluto  (d) Sun 

 

 Read the following paragraph carefully and answer the question No. 36 to 40.  

 

The surrounding in which a person lives creates an environment around him. If we live in 

a clean surrounding our environment will be good. We will enjoy good health and good 

life. Islam lays great stress on cleanliness. It has been made part of the faith. Dirty 

surroundings cause pollution. The environment is also polluted by smoke and filth, which 

cause serious diseases. Over the last few years, pollution has increased a lot in big cities, 

like Lahore, Gujranwala, Multan and Rawalpindi etc. 

Q. No.36. The main idea of the above paragraph is:  

 (a) Islam is a true religion. (b) Clean environment ensures good health. 

 (c) We should cure diseases. (d) Lahore is more polluted. 

Q. No.37. Which one of the following sentences is related with above paragraph: 

 (a) Lahore is the province of Punjab. 

 (b) Islam is the best religion. 

 (c) Over the last few years, population is increasing day by day.   

(d) The environment is also polluted by smoke and filth. 

Q. No.38. Which one of the following is the part of faith? 

 (a) cleanliness    (b) good health 

 (c) good life     (d) environment 

Q. No.39. Which one of the following is caused by dirty surroundings? 

 (a) good health    (b) good life 

 (c) smoke     (d) pollution 

Q. No.40. The meaning of the word “increase” is: 

 (a) decrease  (b) spread  (c) freeze  (d) disease 
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